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26) The classification of studies into applied or basic research is based on [Question ID = 5828]

1. The outcome of the research [Option ID = 23304]
2. The process of the research [Option ID = 23305]

3. The purpose of the research [Option ID = 23306]
4. The logic of the research [Option ID = 23303]

Correct Answer :-
« The outcome of the research [Option ID = 23304]

27) Analysis of labor turnover rates, performance appraisal, training programs and planning of incentives are examples of role of
[Question ID = 5796]

1. Statistics in finance [Option ID = 23176]

2. Statistics in personnel management [Option ID = 23175]
3. Statistics in production [Option ID = 23178]

4. Statistics in marketing [Option ID = 23177]

Correct Answer :-
« Statistics in personnel management [Option ID = 23175]

28) The sampling distribution of proportion is approximated by normal distribution when [Question ID = 5801]

1. none of these [Option ID = 23198]

2. pq= 5 [Option ID = 23196]

3. np= 5 [Option ID = 23195]

4. both np= 5 and pg= 5 [Option ID = 23197]

Correct Answer :-

29) If firm' rate of return (r) is equal to shareholders’ expected rate of return (ke), than market price of a share given by Walter’'s Model
and Gordon’s Model for different payout ratio would be: [Question ID = 5844]

1. Equal [Option ID = 23369]
2. Zero [Option ID = 23368]
3. Negative [Option ID = 23370]
4. Unequal [Option ID = 23367]

Correct Answer :-
« Equal [Option ID = 23369]

30) A theoretical framework is a set of [Question ID = 5831]

1. Theories and empirical data [Option ID = 23316]
2. Theories and data [Option ID = 23315]

3. Theories and variables [Option ID = 23318]

4. Theories and models [Option ID = 23317]

Correct Answer :-
« Theories and models [Option ID = 23317]

31) The short-run equilibrium level of output for a monopolistic competitor is given by the point where [Question ID = 5862]

1. P=SAC [Option ID = 23440]

2. The MR curve intersects the SMC curve [Option ID = 23441]

3. P=SMC [Option ID = 23439]

4. The SMC curve intersects the MR curve from below and P>= AVC [Option ID = 23442]

Correct Answer :-
e The SMC curve intersects the MR curve from below and P>= AVC [Option ID = 23442]

32) The short run supply curve of the perfectely competitive firm is given by [Question ID = 5867]

1. The rising portion of its MC curve over and above the AC curve [Option ID = 23461]

2. The rising portion of its MC curve over and above the shut down point [Option ID = 23459]
3. The rising portion of its MC curve over and above the break even point [Option ID = 23460]
4. The rising portion of its MC curve [Option ID = 23462]

Correct Answer :-

» The rising portion of its MC curve over and above the shut down point [Option ID = 23459]
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33) The put option buyer gains [Question ID = 5846]

. when the strike price is lower than stock price [Option ID = 23378]
. in the stable market [Option ID = 23377]

. in the bullish market [Option ID = 23375]

. in the bearish market [Option ID = 23376]

A WN =

Correct Answer :-
o in the bearish market [Option ID = 23376]

34) Generalization from the sample to the population is more appropriate in [Question ID = 5833]

1. Probability sampling [Option ID = 23323]
2. Convenient sampling [Option ID = 23324]
3. Judgmental sampling [Option ID = 23325]
4. Snowball sampling [Option ID = 23326]

Correct Answer :-
« Probability sampling [Option ID = 23323]

35) Pick the choice that best completes the following sentence. If a relationship between two variables is called statistically significant, it
means the investigators think the variables are [Question ID = 5791]

. very important. [Option ID = 23158]

. related in the population represented by the sample. [Option ID = 23155]

. related in the sample due to chance alone. [Option ID = 23157]

. not related in the population represented by the sample. [Option ID = 23156]

A WN =

Correct Answer :-
« related in the population represented by the sample. [Option ID = 23155]

36) When issues to be addressed are personal, sensitive, or subject to strong social norms, a qualitative research technique generally
recommended is: [Question ID = 5812]

1. Projective technique [Option ID = 23241]

2. Laddering [Option ID = 23239]

3. Focus group discussion [Option ID = 23240]
4. All of these [Option ID = 23242]

Correct Answer :-
» Projective technique [Option ID = 23241]

37) In a hospital 480 female and 520 male babies were born in a week. To check the hypothesis that male and females are born in equal
number, which test shall be used [Question ID = 5809]

1. Z test for proportion [Option ID = 23229]
2. t-test [Option ID = 23227]

3. F test [Option ID = 23230]

4. Z test for mean [Option ID = 23228]

Correct Answer :-
o Z test for proportion [Option ID = 23229]

38) Allocable surplus under the payment of Bonus Act, 1965 for a company is calculated as: [Question ID = 5884]

1. None of these [Option ID = 23530]

2. 60% of available surplus [Option ID = 23528]
3. 70% of available surplus [Option ID = 23529]
4. 67% of available surplus [Option ID = 23527]

Correct Answer :-
e 67% of available surplus [Option ID = 23527]

39) Discriminant analysis is classified under [Question ID = 5827]

1. None of these [Option ID = 23302]

2. Dependence technique [Option ID = 23299]

3. Interdependence technique [Option ID = 23300]

4. Both Dependence technique and Interdependence technique [Option ID = 23301 ]
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An Education magazine reported that "Children who routinely compete in vigorous after-school
sports on smoggy days are three times more likely to get asthma than their non-athletic
peers."The health magazine also reported that "The number of children in the study who

contracted asthma was relatively small, 282 of 3,535." Which of the following is represented by
282/3535=.0797

Historical data has shown that the regression line relating the final exam score and the midterm
exam score for students who take statistics from a certain professoris: final exam =40+ 0.5 x

midterm. One interpretation of the slope is

www.FirstRanker.com
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The following histogram shows the distribution of the difference between the actuval and “ideal”
weights for 119 female students. Notice that percent is given on the vertical axis. Ideal weights

are responses to the question “Whatis yourideal weight™? The difference =actual —ideal.
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Difference = Actual - Ideal

What is the approximate shape of the distribution?

A survey asked people how often they exceed speed limits. The data are then categorized into the

following contingency table of counts showing the relationship between age group and response.

Exceed Limit if Possible?

Age Always Not Always Total
Under 30 100 100 200
Over 30 40 160 200
Total 140 260 400

Among people withage over 30, what's the "risk" of always exceeding the speed limit?

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



:l » FirstRanker.com

J._ Firstranker's choice . )
www.FirstRanker.com www.FirstRanker.com

73) Which of the following documents is not used for exporting goods and services [Question ID = 5855]

1. Consular invoice [Option ID = 23414]

2. Bill of entry [Option ID = 23412]

3. Bill of lading [Option ID = 23411]

4. Commercial invoice [Option ID = 23413]

Correct Answer :-
 Bill of entry [Option ID = 23412]

74) Which of the following is not an assumption of the revealed preference theory [Question ID = 5865]

1. Transitivity [Option ID = 23453]

2. Non satiation [Option ID = 23454]

3. Consistency [Option ID = 23452]

4. A cardinal measure of the utility [Option ID = 23451]

Correct Answer :-
o A cardinal measure of the utility [Option ID = 23451]

75) Which of the following is not a method of measuring translation exposure? [Question ID = 5848]

1. Temporal method [Option ID = 23385]

2. Historic rate method [Option ID = 23386]

3. Current/Non-current method [Option ID = 23383]

4. Monetary/Non-Monetary method [Option ID = 23384]

Correct Answer :-
« Historic rate method [Option ID = 23386]

76) Which of the following is not a benefit of multiple-choice questions over the open-ended questions? [Question ID = 5814]

1. Multiple-choice questions are easier to design [Option ID = 23249]

2. Use of multiple-choice questions reduces interviewer bias [Option ID = 23250]

3. Multiple-choice questions are less costly for coding and data processing [Option ID = 23248]
4. Multiple-choice questions are quicker to administer [Option ID = 23247]

Correct Answer :-
« Multiple-choice questions are easier to design [Option ID = 23249]

77) Which of the following is example of the issue that are checked in the field edit? [Question ID = 5818]

1. All of these [Option ID = 23266]

2. Logical answers between questions (i.e., attributes should be rated high if purchase interest is high) [Option ID = 23264]
3. Completion of all questions on a questionnaire [Option ID = 23265]

4. Single responses to all multiple choice questions [Option ID = 23263]

Correct Answer :-
o All of these [Option ID = 23266]

78) Which of the following is qualitative method of forecasting [Question ID = 5811]

1. Simple moving average [Option ID = 23235]
2. Delphi [Option ID = 23238]

3. Regression [Option ID = 23237]

4. Freehand [Option ID = 23236]

Correct Answer :-
« Delphi [Option ID = 23238]

79) Which of the following are world’s top importing countries in 2016 [Question ID = 5868]

1. Japan and Germany [Option ID = 23466]

2. Germany and United Kingdom [Option ID = 23463]

3. China and United Kingdom [Option ID = 23465]

4. United States of America and China [Option ID = 23464]

Correct Answer :-

~—Umited-States of America ard-Chime TOptiom ID—23%461
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80) Which of the following is the first step in starting the research process [Question ID = 5836]

1. Identification of problem [Option ID = 23337]

2. Searching for solution to the problem [Option ID = 23338]

3. Searching sources of information to locate problem [Option ID = 23335]
4. Survey of related literature [Option ID = 23336]

Correct Answer :-
. Identification of problem [Option ID = 23337]

81) Which one of the following statements best describes ‘selective distribution strategy? [Question ID = 5861]

1. The firm distributes only through shops of a certain size. [Option ID = 23435]

2. The firm uses a limited number of outlets in a given area [Option ID = 23437]

3. The firm distributes only through select types of shops. [Option ID = 23436]

4. The firm selects only one wholesaler/retailer in a given area. [Option ID = 23438]

Correct Answer :-

82) Which one of the following constitutes a basis of psychographic segmentation: [Question ID = 5859]

1. Education level [Option ID = 23428]

2. Life style [Option ID = 23430]

3. Gender and age [Option ID = 23429]

4. Stage in family life cycle [Option ID = 23427]

Correct Answer :-
« Life style [Option ID = 23430]

83) Companies characterized by the production of heterogeneous products will most likely use which of the following methods for the
purpose of averaging costs and providing management with unit cost data.

[Question ID = 5839]

1. Direct costing [Option ID = 23349]

2. Absorption costing [Option ID = 23350]
3. Process costing [Option ID = 23347]

4. Job-order costing [Option ID = 23348]

Correct Answer :-
o Job-order costing [Option ID = 23348]

84) Money received from customers for products to be delivered in the future is recorded as [Question ID = 5838]

1. Liability [Option ID = 23346]

2. Revenue and an asset [Option ID = 23343]
3. Revenue and a liability [Option ID = 23345]
4. An asset and a liability [Option ID = 23344]

Correct Answer :-
* An asset and a liability [Option ID = 23344]

85) Multicollinearity occurs when: [Question ID = 5819]

1. There are high intercorrelations among the independent variables [Option ID = 23268]
2. None of these [Option ID = 23270]

3. Independent variables are mutually exclusive [Option ID = 23267]

4. Dependent variable is highly correlated with independent variables. [Option ID = 23269]

Correct Answer :-
« There are high intercorrelations among the independent variables [Option ID = 23268]

86) Multicollinearity is a problem when [Question ID = 5825]

1. The disturbance terms are correlated [Option ID = 23291]

2. None of these [Option ID = 23294]

3. There is high correlation between dependent and any of the independent variables [Option ID = 23293]
4. There is high correlation In the pairs of independent variables [Option ID = 23292]

www.FirstRanker.com
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Correct Answer :-
. There is high correlation in the pairs of independent variables [Option ID = 23292]

87) A population about which a researcher wants to get information is called [Question ID = 5834]

1. Sample Population [Option ID = 23330]
2. Target population [Option ID = 23328]
3. Finite population [Option ID = 23327]

4. Infinite population [Option ID = 23329]

Correct Answer :-
« Target population [Option ID = 23328]

88) Which method of capital budgeting assumes that the cash flows are reinvested at project’s rate of return? [Question ID = 5842]

1. Net Present value [Option ID = 23360]

2. Terminal value [Option ID = 23359]

3. Accounting rate of return [Option ID = 23362]
4. Internal rate of return [Option ID = 23361]

Correct Answer :-
« Internal rate of return [Option ID = 23361]

89) How should the effect of a change in accounting estimate be accounted for? [Question ID = 5837]

1. By reporting proforma amounts for prior periods. [Option ID = 23340]

2. In the period of change and future periods if the change affects both. [Option ID = 23342]
3. As a prior period adjustment to beginning retained earnings [Option ID = 23341]

4. By restating amount reported in financial statements of prior periods. [Option ID = 23339]

Correct Answer :-
« In the period of change and future periods if the change affects both. [Option ID = 23342]

90) While computing taxable income of an individual, is exempt from tax. [Question ID = 5850]

1. Share of profit from a firm assessed as firm [Option ID = 23393]

2. None of these [Option ID = 23394]

3. Salary from a partnership firm [Option ID = 23391]

4. Interest on capital employed in the partnership firm [Option ID = 23392]

Correct Answer :-
« Share of profit from a firm assessed as firm [Option ID = 23393]

91) A categorical variable is measured on [Question ID = 5832]

1. A nominal scale [Option ID = 23320]
2. A continuous scale [Option ID = 23319]
3. An interval scale [Option ID = 23322]
4. A discrete scale [Option ID = 23321]

Correct Answer :-
« A nominal scale [Option ID = 23320]

92) According to percentiles, median to be measured must lie in [Question ID = 5798]

1. 50th [Option ID = 23185]
2. 80th [Option ID = 23183]
3. 100th [Option ID = 23186]
4. 40th [Option ID = 23184]

Correct Answer :-
o 50th [Option ID = 23185]

93) The process of measuring one’s own services and practices against the recognized leaders in order to identify areas for improvement
is

[Question ID = 5877]

1. Feedforward [Option ID = 23501] A
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